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( )60, 0.05 (only approximate since not quite constant - finite population)R B p»

 

n > 50  and  np = 3 < 5    so a Poisson distribution ( 3l = ) is a good approximation. 

 

Describe one way of obtaining a random sample. 
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No. of sixes  ( ) ( )1
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1 1

0 10 1 10H : H :p p= >  

 

working on H0  ……   no. of lates  ( )1
1020,X B  

( )

( ) 0

p 4 1 0.8670 13.3%
Reject H if 5

p 5 1 0.9568 4.32%
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r = 4       insufficient evidence to cast doubt on the employee’s assertion. 
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5p =      ( ) ( )( )1

5p Type II error p 4 B 20, 0.6296 (3 . .)X X s f= £ = = 0.630  
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What matters is whether the breaking strength is 13 kN or more , so a one-tail test is 

more appropriate. 

0 1H : 13000 H : 13000m m= <  
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So sufficient evidence on which to reject the company’s claim. 

 

The Central Limit Theorem is needed to ensure the normality of the test statistic. 
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name one assumption  …..   independent, uniform, etc. 

 

( ) ( ) ( )Po 6 p 5 1 p 5 1 0.4457X X> = - £ = - = 0.554  
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longest period of time is 1.05 minutes 
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